
Right Angled Triangles 

 

 

 

 

 

 

ab       bc       (𝑜𝑛𝑒 90° 𝑎𝑛𝑔𝑙𝑒) 

Pythagaros’ Theorem 

𝑐2 = 𝑎2 + 𝑏2 

 

SOHCAHTOA 

sin 𝐴 =
𝑜𝑝𝑝𝑜𝑠𝑖𝑡𝑒

ℎ𝑦𝑝𝑜𝑡ℎ𝑒𝑛𝑢𝑠𝑒
 

cos 𝐴 =
𝑜𝑎𝑑𝑗𝑎𝑐𝑒𝑛𝑡

ℎ𝑦𝑝𝑜𝑡ℎ𝑒𝑛𝑢𝑠𝑒
 

tan 𝐴 =
𝑜𝑝𝑝𝑜𝑠𝑖𝑡𝑒

𝑎𝑑𝑗𝑎𝑐𝑒𝑛𝑡
 

Area of Triangle 

𝐴𝑟𝑒𝑎 =
1

2
𝑏𝑎𝑠𝑒 × 𝑝𝑒𝑟𝑝𝑒𝑛𝑑𝑖𝑐𝑢𝑙𝑎𝑟 ℎ𝑒𝑖𝑔ℎ𝑡 

 

Example 

 

 

 

 

 

 

ℎ =  ? 

ℎ2 = 32 + 42 

ℎ2 = 9 + 16 

ℎ2 = 25 

ℎ = √25 

ℎ = 5 

 

Non-Right Angled Triangles 

 

 

 

 

 

 

(𝑛𝑜 90° 𝑎𝑛𝑔𝑙𝑒) 

Sine Rule 

If you are looking for the length of a side 

𝑎

𝑠𝑖𝑛𝐴
=

𝑏

𝑠𝑖𝑛𝐵
   or  𝑎

𝑠𝑖𝑛𝐴
=

𝑐

𝑠𝑖𝑛𝐶
   or  𝑏

𝑠𝑖𝑛𝐵
=

𝑐

𝑠𝑖𝑛𝐶
 

 

If you are looking for the size of an angle 

𝑠𝑖𝑛𝐴

𝑎
=

𝑠𝑖𝑛𝐵

𝑏
   or  𝑠𝑖𝑛𝐴

𝑎
=

𝑠𝑖𝑛𝐶

𝑐
   or  𝑠𝑖𝑛𝐵

𝑏
=

𝑠𝑖𝑛𝐶

𝑐
 

 
Cosine Rule 

𝑎2 = 𝑏2 + 𝑐2 − 2𝑏𝑐𝑐𝑜𝑠𝐴 

𝑏2 = 𝑎2 + 𝑐2 − 2𝑎𝑐𝑐𝑜𝑠𝐵 

𝑐2 = 𝑎2 + 𝑏2 − 2𝑎𝑏𝑐𝑜𝑠𝐶 

 

Area of Triangle 

𝐴𝑟𝑒𝑎 =
1

2
𝑎𝑏𝑠𝑖𝑛𝐶 
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